Part #: 1421 Part #: 1421E25W

(package of 4 screws & 4 (package of 25)

metal cup washers) Part#: 1421E100W
(package of 100)

- 10-32 x 0.625"

- Slotted oval head screws

- Steel cup washers (0.60"
outside diameter)

« Nickel plated

» Metal cup washers

» 0.60" outside diameter

» Use with 10-32 countersunk
screws

* Nickel plated

Part#: 1421A Part #: 1421A25W

(package of 4 screws & 4 (package of 25)

plastic cup washers) Part #: 1421A100W
(package of 100)

+10-32 x 0.625"

« Slotted & phillips combina
tion oval head screws

* Nickel plated screws

- Black plastic cup washers
» 0.58" outside diameter
» Use with 10-32 countersunk

- Black plastic cup washers screws
(0.58" outside diameter)
Part#: 1421A25B Part #: 1421B

(package of 4 screws & 4
nylon washers)

(package of 25)

Part #: 1421A100B

(package of 100)

+10-32 x 0.5" thumb screws

» With captivated nylon
washers

* Nickel plated

» Works with panels up to

+10-32 x 0.625"

« Slotted & phillips combina
tion oval head screws

« Nickel plated

0.09" thick
* Head is 0.62" dia. x 0.37"
high
Part #: 1421F25 Part #: 1421D
(package of 25) (package of 25)
+10-32 x 1.25" -10-32 x 0.5"

« Slotted & phillips
combination pan
head screws

- Use where economy
is important OR for
close panel spacing.

* Phillips oval head screws
« Nickel plated

* Zinc plated
Hammond Manufacturing Co. Ltd. ", Hammond Manufacturing Co. Inc. 119
394 Edinburgh Rd. North ‘907/)70 256 Sonwil Dr.
Guelph, Ontario N1H 1E5 CANADA "‘707;:90 Cheektowaga, NY 14225 USA
“g Phone: 519-822-2960 Fax: 519-822-0715 97 Phone: 716-651-0086 Fax: 716-651-0726



o
D
i
o
7]
7
&L
&)
&)
<L

Part #: H1224520
(package of 20 screws)

- 12-24 x 5/8"

« Slotted & phillips combina
tion pan head screws

« Zinc plated

- Used mainly on our
aluminum open relay racks
(RRAL series)

Part #: 1421N25

Part #: 1421CNC25
(package of 25)

Part #: 1421CNC100
(package of 100)

+12-24 cage nuts

* USE ON SQUARE HOLE
PUNCHED RAILS ONLY

> Has the holding strength of
a 12-24 nut

« Zinc plated

Part #: 1421CNB25

(package of 25) (package of 25)
Part #: 1421N100 Part #: 1421CNB100
(package of 100) (package of 100)

+10-32 clip nuts

* USE ON ROUND HOLE
PUNCHED RAILS ONLY

 Has the holding strength of
a 10-32 nut

« Black finish

Part #: 1421NP25
(package of 25)

Part #: 1421NP100
(package of 100)

+10-32 clip nuts

* USE ON ROUND HOLE
PUNCHED RAILS ONLY

 Has the holding strength of
a 10-32 nut

« Zinc plated

Part #: 1421CNA25
(package of 25)

Part #: 1421CNA100
(package of 100)

+10-32 cage nuts

» USE ON SQUARE HOLE
PUNCHED RAILS ONLY

- Has the holding strength of
a 10-32 nut

« Zinc plated

- M6 cage nuts

* USE ON SQUARE HOLE
PUNCHED RAILS ONLY

> Has the holding strength of
a M6 nut

« Zinc plated

Part #: RCNIT
(cage nut insertion tool)

-+ Allows for easy installation
of cage nuts in square rail
hole

- Spring steel tool

Part #: 1463S
(package of 3 bolts, spring
nuts & washers)

- 3/8 x 16 spring loaded nuts
(for Rack "C" channels)

= 0.75" hex head bolts &
washers

- used to mount one rack rail
(used in racks with Amhal
strut rail mounting)

Hammond Manufacturing Co. Inc.

1

N

O‘" Hammond Manufacturing Co. Ltd. "”bzq,,%
394 Edinburgh Rd. North e’b/,,o 256 Sonwil Dr.
"O'/;,f

Guelph, Ontario N1TH 1E5 CANADA B Cheektowaga, NY 14225 USA
“g Phone: 519-822-2960 Fax: 519-822-0715 97 Phone: 716-651-0086 Fax: 716-651-0726



CraHpapT
INeKTpPOoH
ﬂ CBAA3b

Mbl MOf04aA M aKTUBHO Pa3BMBAIOLLAACA KOMMAHWA B 061acTM  MOCTaBOK
3NEKTPOHHbIX KOMMOHEHTOB. Mbl NOCTAaBASEM  3/IEKTPOHHbIE  KOMMOHEHTbI
OTEYEeCTBEHHOIrO U MMMOPTHOIO NMPOWU3BOACTBA HAMPAMYIO OT NPOU3BOAMUTENEN U C
KpYMHEMLWKNX CKNaZ0B MUpa.

Enaro,a,apﬂ coTpygHn4ecTtesy C MMpPOBbIMU NOCTaBWMKaMWN Mbl OCYLLECTBIAEM
KOMMNNEKCHbIE N NN1aHOBblE MNMOCTABKU LumpoqaﬁLuero CNEeKTpa 3/1EKTPOHHbIX
KOMMOHEHTOB.

CobcTtBeHHan 3¢p@eKTUBHAA NOrMCTUKA M CKNag B obecneunBaeT HageKHYHo
MOCTaBKy MNPOAYKLMM B TOYHO YKa3aHHble CPOKM Mo Bcel Poccum.

Mbl ocyuiecTBisem TEXHUYECKYI0 MNOALEPKKY HAWWM  K/IMEHTaMm U
npeanpoaaxkHyto NPOBEPKY KayecTsa NpoayKumu. Ha Bce noctaBnsiemble NpoAyKTbl
Mbl MPEAOCTaBASEM TFAPaAHTUIO .

OcyuwiectBndem nNOCTaBKM NpoOAYKUMM nog, KoHTponem Bl MO PO Ha
npeanpuATUA BOEHHO-NPOMbIWIEHHOTO KoMnaekca Poccuun , a TakKe paboTtaem B
pamkax 275 ®3 c OTKpbITUEM OTAE/bHbIX CHETOB B YNONHOMOYEHHOM BaHKe. Cuctema
MeHeXMeHTa KayecTBa KomnaHum cooTBeTcTByeT TpeboBaHuam FOCT ISO 9001.

MWHUMaNbHbIE  CPOKM  MNOCTAaBKW, TMOKME  UeHbl, HeorpaHWYeHHbIN
aCCOPTUMEHT UM WHAMBMAYANbHbLIN MNOAXOA K KAMEHTaM ABAAIOTCA OCHOBOW ANA
BbICTPAMBaHMA A0FOCPOYHOIO M 3GPEKTUBHOIO COTPYAHMYECTBA C NPEeANPUATUAMM
PaANO3NEKTPOHHOMW NPOMBIWAEHHOCTU, NPEeanPUATUAMM BMNK u HayuHo-
nccnenoBaTeNbCKUMKU MHCTUTYTaMm Poccun.

C Hamu Bbl CTAaHOBMUTECH elle ycnewHee!

[HaLLIM KOHTAKTbI: \

TenedoH: +7 812 627 14 35

dNeKTpPOHHaA nouTa: sales@st-electron.ru

Appec: 198099, CaHkT-MNeTepbypr,
MpomblwneHHasa yn, gom Ne 19, nutepa H,
nometleHune 100-H Oduc 331

\_

J



mailto:sales@st-electron.ru

